Gamma Ray MD
(Scale: 1":100' (100")

Company: CARRIZO OIL & GAS, Inc.

Well: STATE #16-11-9-60 H
Field: PAWNEE BUTTES

Well ID: 05-123-31642

Job Number: DR1010080-01-276

Location: NW 1/4 NW 1/4 SEC 16 - T9N - R60W 6th PM
Operator 1: M. Webster

Operator 2: C.A. Riney

Comment 1: 1" = 100" MD GR (api) vs ROP (fph)

Comment 2: Rig: Xtreme Drlg #15

Comment 3: LAT: 40.755031
Comment 4: LONG: -104.104749

State: CO
County: WELD
Country: USA

Elev KB: 5026.4
Elev DF: 5026.4
Elev GL: 5011.4

#1 MD:5622.0 TVD:5620.6 1:3.2 A:149.0 VS:-50.3

#2 MD:5667.0 TVD:5665.4 1:7.3 A:150.8 VS:-46.4

#3 MD:5713.0 TVD:5710.7 1:12.4 A:152.3 VS:-38.9

#4 MD:5758.0 TVD:5754.6 1:12.8 A:148.8 VS:-29.6

#5 MD:5802.0 TVD:5797.5 1:12.4 A:145.3 VS:-20.3

#6 MD:5846.0 TVD:5840.5 1:12.0 A:143.3 VS:-11.1

#7 MD:5889.0 TVD:5882.6 1:11.7 A:140.9 VS:-2.4

A 4O MD.-CODA N T\/N-CONE 7 144 O A.400 0 \/CO.~ =7

ROP (MD)

Ft/Hr

150
300

150

Depth
1":100' (I%”')

5600

=5800

5900

Comment 5:
Hole Data Casing Record

Size From To Size From To
17" Surface 65' 16" Surface 65'
13" 65' 1400' 9.625" 65' 1400'
9" 1400' 6659' 7" 1400' 6659’
6.125" 6659’ 11709'

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N N/A PGMO023 PGMO023

Cal Factor 4.77 3.15

Gamma Offset 43' 45'

Start Depth 5696' 6708’

Start Date 10-23-2010 10-27-2010

Start Time 18:30 18:30

End Depth 6708' 11709

End Date 10-26-2010 11-6-2010

End Time 1:30 11:00

Gamma API (MD)

API

200
400

200

===5700
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#9 MD:5979.0 TVD:5970.3 1:16.1 A:142.5 VS:17.4

#10 MD:6022.0 TVD:6011.2 1:20.0 A:143.2 VS:30.5

#11 MD:6066.0 TVD:6052.2 1:22.9 A:143.3 VS:46.4

#12 MD:6111.0 TVD:6093.1 1:26.3 A:143.4 VS:64.8

#13 MD:6155.0 TVD:6131.7 1:30.7 A:139.4 VS:85.6

#14 MD:6199.0 TVD:6168.8 1:34.7 A:138.3 VS:109.2

#15 MD:6242.0 TVD:6203.3 1:38.4 A:135.7 VS:134.8

#16 MD:6288.0 TVD:6238.2 1:43.0 A:133.1 VS:164.8

#17 MD:6331.0 TVD:6268.5 1:47.4 A:130.6 VS:195.3

#18 MD:6376.0 TVD:6297.3 1:52.9 A:131.1 VS:229.8

#19 MD:6420.0 TVD:6322.3 1:57.8 A:133.6 VS:265.9

#20 MD:6463.0 TVD:6343.8 1:62.2 A:135.3 VS:303.2

#21 MD:6507.0 TVD:6363.5 1:64.6 A:136.3 VS:342.5

#22 MD:6552.0 TVD:6381.4 1:68.6 A:136.6 VS:383.7

#23 MD:6597.0 TVD:6395.7 1:74.3 A:134.7 VS:426.3

#24 MD:6643.0 TVD:6405.9 1:80.0 A:133.1 VS:471.1

#25 MD:6714.0 TVD:6413.3 1:88.0 A:131.0 VS:541.6

#26 MD:6759.0 TVD:6413.5 1:91.6 A:130.2 VS:586.6

#27 MD:6804.0 TVD:6412.1 1:91.8 A:130.0 VS:631.5

#28 MD:6847.0 TVD:6410.6 1:92.2 A:129.7 VS:674.4

#29 MD:6891.0 TVD:6409.7 1:90.3 A:131.6 VS:718.3

#30 MD:6936.0 TVD:6410.1 1:88.5 A:133.5 VS:763.3

#31 MD:6981.0 TVD:6410.4 1:90.9 A:133.3 VS:808.3

#32 MD:7026.0 TVD:6408.9 1:93.0 A:133.0 VS:853.3
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#33 MD:7071.0 TVD:6406.3 1:93.5 A:132.9 VS:898.2

#34 MD:7116.0 TVD:6403.4 1:94.0 A:132.8 VS:943.1

#35 MD:7161.0 TVD:6400.8 1:92.4 A:133.9 VS:988.1

#36 MD:7205.0 TVD:6399.8 1:90.2 A:134.9 VS:1032.0

#37 MD:7250.0 TVD:6399.7 1:90.3 A:134.4 VS:1077.0

#38 MD:7293.0 TVD:6399.4 1:90.4 A:133.8 VS:1120.0

#39 MD:7339.0 TVD:6399.0 1:90.6 A:133.6 VS:1166.0

#40 MD:7384.0 TVD:6398.3 1:91.2 A:133.6 VS:1211.0

#41 MD:7427.0 TVD:6397.2 1:91.6 A:133.0 VS:1254.0

#42 MD:7472.0 TVD:6396.6 1:89.9 A:134.2 VS:1299.0

#43 MD:7518.0 TVD:6396.6 1:90.2 A:134.5 VS:1345.0

#44 MD:7562.0 TVD:6396.4 1:90.4 A:134.2 VS:1389.0

#45 MD:7607.0 TVD:6396.0 1:90.5 A:134.0 VS:1434.0

#46 MD:7651.0 TVD:6395.6 1:90.7 A:133.7 VS:1478.0

#47 MD:7694.0 TVD:6395.0 1:90.7 A:133.4 VS:1520.9

#48 MD:7739.0 TVD:6394.4 1:91.0 A:133.2 VS:1565.9

#49 MD:7784.0 TVD:6393.5 1:91.2 A:132.7 VS:1610.9

#50 MD:7827.0 TVD:6392.6 1:91.3 A:132.5 VS:1653.9

#51 MD:7870.0 TVD:6391.6 1:91.3 A:132.4 VS:1696.9

#52 MD:7915.0 TVD:6390.6 1:91.1 A:132.2 VS:1741.9

#53 MD:7960.0 TVD:6389.8 1:91.1 A:131.4 VS:1786.9

#54 MD:8005.0 TVD:6389.0 1:90.9 A:132.8 VS:1831.9

#55 MD:8050.0 TVD:6388.2 1:91.1 A:132.0 VS:1876.8

#56 MD:8097.0 TVD:6387.4 1:90.8 A:133.2 VS:1923.8
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#57 MD:8142.0 TVD:6386.8 1:90.9 A:133.6 VS:1968.8

#58 MD:8187.0 TVD:6386.3 1:90.4 A:133.3 VS:2013.8

#59 MD:8232.0 TVD:6386.0 1:90.3 A:133.4 VS:2058.8

#60 MD:8277.0 TVD:6385.7 1:90.4 A:133.3 VS:2103.8

#61 MD:8322.0 TVD:6386.0 1:88.8 A:135.2 VS:2148.8

#62 MD:8366.0 TVD:6387.4 1:87.6 A:136.3 VS:2192.7

#63 MD:8411.0 TVD:6389.2 1:87.7 A:136.6 VS:2237.6

#64 MD:8456.0 TVD:6391.1 1:87.5 A:137.0 VS:2282.5

#65 MD:8500.0 TVD:6392.6 1:88.6 A:136.0 VS:2326.4

#66 MD:8545.0 TVD:6393.1 1:90.3 A:134.5 VS:2371.4

#67 MD:8591.0 TVD:6392.8 1:90.4 A:134.6 VS:2417.4

#68 MD:8636.0 TVD:6392.5 1:90.3 A:134.6 VS:2462.3

#69 MD:8679.0 TVD:6392.8 1:88.9 A:134.2 VS:2505.3

#70 MD:8725.0 TVD:6393.8 1:88.7 A:134.2 VS:2551.3

#71 MD:8768.0 TVD:6394.9 1:88.4 A:132.9 VS:2594.3

#72 MD:8813.0 TVD:6396.1 1:88.3 A:132.8 VS:2639.3

#73 MD:8857.0 TVD:6397.5 1:88.3 A:133.1 VS:2683.3

#74 MD:8902.0 TVD:6398.9 1:88.0 A:133.0 VS:2728.2

#75 MD:8946.0 TVD:6399.6 1:90.2 A:132.3 VS:2772.2

#76 MD:8989.0 TVD:6399.3 1:90.5 A:132.0 VS:2815.2

#77 MD:9012.0 TVD:6399.1 1:90.6 A:132.1 VS:2838.2

#78 MD:9034.0 TVD:6398.9 1:90.7 A:131.7 VS:2860.2

#79 MD:9079.0 TVD:6398.2 1:91.0 A:131.6 VS:2905.2

#80 MD:9123.0 TVD:6397.2 1:91.5 A:131.3 VS:2949.2

#81 MD:9167.0 TVD:6396.1 1:91.4 A:129.7 VS:2993.1

#82 MD:9189.0 TVD:6395.5 1:92.0 A:130.4 VS:3015.0

#83 MD:9212.0 TVD:6394.5 1:92.7 A:131.6 VS:3038.0
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#84 MD:9256.0 TVD:6392.4 1:92.9 A:132.0 VS:3081.9

#85 MD:9301.0 TVD:6389.9 1:93.4 A:132.0 VS:3126.9

#86 MD:9347.0 TVD:6387.0 1:93.9 A:131.9 VS:3172.8
#87 MD:9372.0 TVD:6385.3 1:93.7 A:133.1 VS:3197.7
#88 MD:9392.0 TVD:6384.1 1:93.1 A:133.8 VS:3217.7
#89 MD:9414.0 TVD:6382.9 1:93.2 A:133.7 VS:3239.6
#90 MD:9436.0 TVD:6381.9 1:92.3 A:134.4 VS:3261.6
#91 MD:9458.0 TVD:6381.2 1:91.4 A:135.2 VS:3283.6

#92 MD:9481.0 TVD:6380.8 1:90.4 A:135.4 VS:3306.6

#93 MD:9524.0 TVD:6380.5 1:90.3 A:135.2 VS:3349.5

#94 MD:9569.0 TVD:6380.2 1:90.5 A:135.3 VS:3394.5

#95 MD:9613.0 TVD:6379.4 1:91.6 A:134.2 VS:3438.5
#96 MD:9636.0 TVD:6378.6 1:92.4 A:133.9 VS:3461.5
#97 MD:9657.0 TVD:6377.7 1:92.6 A:133.4 VS:3482.4
#98 MD:9679.0 TVD:6376.8 1:92.3 A:133.1 VS:3504.4
#99 MD:9700.0 TVD:6375.9 1:92.4 A:132.9 VS:3525.4

#100 MD:9745.0 TVD:6373.9 1:92.7 A:132.7 VS:3570.4
#101 MD:9767.0 TVD:6372.8 1:93.0 A:132.9 VS:3592.3
#102 MD:9791.0 TVD:6371.5 1:93.0 A:132.8 VS:3616.3
#103 MD:9814.0 TVD:6370.3 1:93.1 A:133.0 VS:3639.3
#104 MD:9834.0 TVD:6369.3 1:92.5 A:133.2 VS:3659.2
#105 MD:9856.0 TVD:6368.4 1:92.5 A:133.3 VS:3681.2
#106 MD:9879.0 TVD:6367.6 1:91.3 A:133.4 VS:3704.2
#107 MD:9901.0 TVD:6367.1 1:91.4 A:133.5 VS:3726.2
#108 MD:9923.0 TVD:6366.7 1:90.6 A:133.9 VS:3748.2
#109 MD:9945.0 TVD:6366.5 1:90.8 A:134.5 VS:3770.2

#110 MD:9968.0 TVD:6366.1 1:91.0 A:134.8 VS:3793.2

#111 MD:10011.0 TVD:6365.3 1:91.0 A:134.4 VS:3836.

N

#112 MD:10055.0 TVD:6364.4 1:91.4 A:134.5 VS:3880.

py

#113 MD:10100.0 TVD:6363.3 1:91.4 A:134.2 VS:3925.1

#114 MD:10124.0 TVD:6362.8 1:91.0 A:134.1 VS:3949.1

#115 MD:10144.0 TVD:6362.7 1:89.9 A:133.7 VS:3969.1

#116 MD:10188.0 TVD:6362.7 1:90.0 A:133.4 VS:4013.1

#117 MD:10232.0 TVD:6362.5 1:90.5 A:133.6 VS:4057.1

#118 MD:10256.0 TVD:6362.2 1:90.8 A:133.6 VS:4081.1

#119 MD:10277.0 TVD:6361.9 1:91.1 A:133.7 VS:4102.1

#120 MD:10299.0 TVD:6361.4 1:91.5 A:133.5 VS:4124.1

A4 AAPN.4ANAA N T\/I.AAA4 4 1.AA A A4 EF\IO A4 A= 4
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#122 MD:10354.0 TVD:6361.1 1:89.5 A:133.1 VS:4179.1

#123 MD:10376.0 TVD:6361.2 1:89.8 A:133.1 VS:4201.1

#124 MD:10397.0 TVD:6361.3 1:89.9 A:133.1 VS:4222.1

#125 MD:10419.0 TVD:6361.3 1:90.0 A:132.9 VS:4244.1

#126 MD:10443.0 TVD:6361.6 1:88.7 A:132.9 VS:4268.1

#127 MD:10486.0 TVD:6362.9 1:87.9 A:133.1 VS:4311.

Y

#128 MD:10531.0 TVD:6364.5 1:88.0 A:133.1 VS:4356.

o

#129 MD:10574.0 TVD:6365.6 1:88.9 A:132.8 VS:4399.0
#130 MD:10597.0 TVD:6366.0 1:89.2 A:132.7 VS:4422.0

#131 MD:10620.0 TVD:6366.3 1:89.4 A:132.8 VS:4445.0

#132 MD:10664.0 TVD:6366.7 1:89.7 A:132.7 VS:4489.

o

#133 MD:10707.0 TVD:6366.8 1:89.9 A:133.3 VS:4532.

o

#134 MD:10751.0 TVD:6367.3 1:88.7 A:133.4 VS:4576.

o

#135 MD:10795.0 TVD:6368.7 1:87.7 A:134.0 VS:4620.

o

#136 MD:10838.0 TVD:6370.5 1:87.5 A:133.8 VS:4662.

©

#137 MD:10884.0 TVD:6372.5 1:87.6 A:133.2 VS:4708.

©

#138 MD:10927.0 TVD:6374.3 1:87.5 A:133.0 VS:4751.

©

#139 MD:10972.0 TVD:6376.3 1:87.4 A:132.7 VS:4796.

[oe]

#140 MD:11016.0 TVD:6377.5 1:89.5 A:131.9 VS:4840.

©

#141 MD:11060.0 TVD:6377.6 1:90.3 A:132.0 VS:4884.8

#142 MD:11105.0 TVD:6377.3 1:90.5 A:132.1 VS:4929.

©

#143 MD:11150.0 TVD:6377.3 1:89.4 A:131.8 VS:4974.8

#144 MD:11194.0 TVD:6377.7 1:89.7 A:131.8 VS:5018.7

#145 MD:11237.0 TVD:6377.5 1:90.7 A:131.8 VS:5061.7

#146 MD:11281.0 TVD:6377.0 1:90.6 A:131.7 VS:5105.7

#147 MD:11324.0 TVD:6376.6 1:90.6 A:131.4 VS:5148.7

#148 MD:11370.0 TVD:6376.1 1:90.5 A:131.1 VS:5194.7

H4AQ MDY -14444E5E N TVV/NDNCRA7TE Q1N A A-124 N \/Q-H2NOQ 0
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#150 MD:11458.0 TVD:6375.4 1:90.7 A:131.5 VS:5282.

(o2}

#151 MD:11501.0 TVD:6374.8 1:90.7 A:131.4 VS:5325.

(o2}

#152 MD:11545.0 TVD:6373.7 1:92.2 A:132.2 VS:5369.

(3]

#153 MD:11588.0 TVD:6372.0 1:92.4 A:132.1 VS:5412.

o

#154 MD:11631.0 TVD:6370.2 1:92.3 A:131.7 VS:5455.

o

#155 MD:11675.0 TVD:6368.5 1:92.3 A:131.5 VS:5499.4

#156 MD:11709.0 TVD:6367.1 1:92.3 A:131.5 VS:5533.4






